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QUESTION 1

The following keyword was typed in exactly as shown. Choose the answer(s) that would result. All search criteria have
default settings.

A. Tom

B. tom jones
C. Tom Jones
D. Jones

Correct Answer: BC

QUESTION 2

The EnCase evidence file is best described as:

A. A bit stream image of the source hard drive written to the corresponding sectors of the target hard drive.

B. A clone of the source hard drive.

C. A bit stream image of the source hard drive written to a file, or several file segments.

D. A sector-by-sector copy of the source hard drive written to the corresponding sectors of the target hard drive.

Correct Answer: C

QUESTION 3

Which of the following would most likely be an add-in card?

A. Anything plugged into socket 7

B. A motherboard

C. Avideo card that is connected to the motherboard in the AGP slot
D. The board that connects to the power supply

Correct Answer: C

QUESTION 4
If cluster #3552 entry in the FAT table contains a value of this would mean:

A. The cluster is allocated
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B. The cluster is marked bad
C. The cluster is unallocated
D. The cluster is the end of a file

Correct Answer: C

QUESTION 5

The following keyword was typed in exactly as shown. Choose the answer(s) that would be found. All search criteria
have default settings.

A. TomJ@hotmail.com
B. Tomorrow

C.Tom

D. Stomp

Correct Answer. ABCD
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